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I ndian Army general duty sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER GENERAL DUTY

TIME - 1 HR.

QUESTIONS - 50

ALL QUESTIONS ARE COMPUL'SORY AND CARRY EQUAL MARKS

Arjuna Award is given to

3 IR frd fear smar 81

a. Outstanding sports persons / faafeal
b. Poets / Hfadl

c. Scientists / ATt

d. Actors / =

The main city of Kashmir Valley
is

FIR 91t BT =T G 8

a. Pathankot / UdH®Ic

b. Srinagar / "R

c. Kupwara / pyarst

d. None of these / S8 I ®I5 T8l

Which is known as the land

of Midnight Sun

3T T BT YR fHT I B FHeT oI 82
Japan / SO

Switzerland / faeoRds

Norway / Aifd

None of these / 378 ¥ @15 g1

e o o

‘Satyameva Jayate’ has been

taken from ................

ATHT T Bl A fordm T g
Mandukya Upanishad / ATogediufvg
Rigveda / g

Natyashastra / TcI=IT

Samveda / mag

o0 ow

05.

06.

07.

08.

Chilika lake is situated in
et st T R 32

Orissa / 3nfg=m

Bihar / fagR

Madhya Pradesh / 7 ye=1
None of these / 399 § &3 &l

o0 o

Capital of Mizoram is

fireiw o1 IereT $8T 82

Aizawl / 3ftssid

Shillong / R

Imphal / S9hTd

None of these / / 70 ¥ &3 ol

o o o

Bihu is the traditional dance

of which state?

fag fra o= &1 uRu® J 82
a. Bihar /fagr

b. Assam / 3gH

c. Punjab / gsTg

d. None of these / 99 q P13 &l

London is situated on the bank

e ... AT P e R TS |

James/ Si=q
Tames/ <&
Hames/ 8=
Thames/ 2%

i R i
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By using a map, you can

find

TP TR BT YN HXP AT T UT Jhd
0

a. Distance / gt

b. Direction / f=m

c. Altitude / $ams

d. All of these / 379 T @&

Who is the Supreme

Commander of the Armed Forces?

IR Il BT aed HHIS B gl 82

a. Chief Justice of Supreme Court / 3=
T o1 G Ry

b. Speaker of Lok sabha / @iaHT &1
&

c. President of India / HIRd &1

d. None of the above / SRiFd &

Which is the deepest ocean in

the world

T4 g & W eI AR B R
a. Pacific Ocean / URId HeR

b. Indian Ocean / f§g HERITR

c. Arabian Ocean / 3Rd HgEIR

d. None of these / 378 Q PIs =gt

India liberated Goa from the
Portuguese in

YR = a1 $t Gl d $d Gad S
a. 1947

b. 1965

c. 1961

d. 1960

Paris is situated on the bank

of river

v fre 1t & de W R 32

a. Seine/dH

b. Thames / J=7

c. Volga/a@m

d. None of these / 370 ¥ ®Ig T8l

National Botanical Garden is
situated in which city

P Tl Safey weY A fRud 82
a. Rewa/3ar

b. Jaipur / SR

C. Chandigarh/m

d. Lucknow / dE@T3

PIS el
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What is HIN1

HIN1 T g

a. Cough /@it

b. Bird Flu /&8 &,

c. Swine Flu / %18 o],

d. None of these / T8 q ®Is gl

What is laughing gas?

A AT

a. Carbon dioxide / HTa STEHTRIZS

b. Sulphur dioxide / GehR SEHIHES

c. Hydrogen peroxide / g3 RIRTZS
d. Nitrous oxide / 13¢Y HiUTZS

The most important ore of
aluminum is
WWWWW%
Bauxite / Siqqrge
Calamine/ &= STl

Calcite / Hege
Galena / I &1 &t o1d

oo op

. The gas used to extinguish fire is

3T g3 & g &1 I {9 371 37T
forar e 82

Neon / Fatq

Nitrogen / A1SoH

Carbon dioxide / ®Td SZ3{aIES
Carbon monoxide/ &Ta ASEsS

o0 o

The mammal which lay eggs is
sﬂﬁﬁaﬁqwmtrrd’raﬂa 3[US el 32
Bat / 9GS

Kangaroo / diRe

Squirrel / e

Duckbilled Platypus / @feud

oo o

. Laparoscopy is connected with

AMBI e et gon @2

a. Radars /XsSRR

b. Science of tissues / Hdd! &1 fagm

c.  Study of laser beams / WoR &1H &1
g

d. Gynecological operations /4 Jfc=mH
SEISE]
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21. The fourth state of matter is
verdf #t A@eft srawiT 3

Solid / 319

Liquid / a3

Plasma / @TsH1
Gas /99

o0 o

22. Which of the following is a mixed
fertilizer?
sHIATE AR g
a. Urea/gfan
b. Ammonium sulphate / 3HIRTH Hetbe
c. CAM diugH
d. NPK /T dle

23. Cow milk is a rich source of
mmgﬂmmaﬁa%

Vitamin A

Vitamin B /

Vitamin C / faerfiq it

Vitamin D / faer®= st

o0 oo

24. Typhoid is a disease of
TRHISS N Bl gt 2

Liver / llaR

Lungs / %

Stomach /Ue

Intestine / 3f1d

o0 T ®

25. The tooth with three roots is
0 SISt &7 & giaT 3
a. Maxillary Molar / <1
b. Premolar / 3IgIg

c. Incisor / %
d. Canine /g%

26. The saliva helps in digestion of
R frad uraq # Heg HRa1 g
a. Proteins / WéA
b. Fats/adr
c. Fibers/wigsR
d. Starch/%®r

4ono.com  4ono.com
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27. Short sightedness is due to

maﬁmaﬁm%
. shifting of the iris / 3fi@ @ gaeil &1
TITTARUT

b. weaker muscles / HHGIR HEURM

c. elongation of eyeballs / ==TIeI® BT
e

d. weakening of the retina / e &1
DHHGR BT

28. The weight of an average human
male brain is about
TP TOP [V TRKTsh BT 37 I
fam g 82
a. lkg
b. 1200 gms
c. 1350 gms
d. 1500 gms/

29. Water has maximum density at
qrit &1 Sif¥ean g frad gm?
a. 0°C
b. 4°C
c. 100°C
d. 10°C

30. Which of the following diseases
usually spreads through air
fFrafafea & & o9 91 A7 THdR W gaT &
HreaH A Srerar 82
a. Plague /@
b. Typhoid / Ts®IgS
c. Tuberculosis / &3 30T
d. Cholera /g%

31. The ozone layer in the upper part
of the atmosphere protects us from
qIHEA BT S =1 Siiei< IRa g6
frad Tardt 32

visible radiations / U fafeor

infra-red rays / 3favad farol

ultra violet rays / ORT &7 farzor

cosmic rays / Sgire g faxor

oo o
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32. Aviation fuel for jet aero planes 37. 1 10, 20, x and 40 are in a proportion,

consists of purified

the value of x will be

B St iy NN T3 10, 20, x 3N 40 TP SFUTd § §, A x BT
a. Petrol / i@ T?ﬁ '

b. Kerosene / ffiect da b'. 20

c. Gasoline / & c. 30

d. Diesel / Si5ia d. 80

33. Which of the following is not a gland?

38. If 10th January, 2004 is Tuesday,

e ®q P I TE 82 what will be the day on 10th?

a. S@oma%égc’ January, 2005

b. Liver/ gfe 10 FFad, 2004 BT & WTaaR g,
c. Kidney/ &

d. Pancreas/ Ura-TfY

10 SITaSY, 2005 @1 fg am gRme?
a. Wednesday / §UdR

34. Long distance photography b.” Thursday / =dR

is facilitated by c. Tuesday / HITdR

wa1eT gdt areft Bie et fohad gRT gars d. Friday / SpaR

mmﬂao—cﬁ 22 Y

E’ \)é'f;?/lselhqg_é 39. A cyclist covers 12 km in an hour.

c.' Infrared rays/ 3favad BT What is his speed in meters per

d. Ultraviolet rays / SRTSTH fsvor Minute

TS ATsfed 9ar ¢ 4 | R fra dex gaarn

35. In fireworks, the green flame 2 a1 Suel wits Wex/fre Far ghft?

is produced because of

a. 100 m/min/100 Hex/ffre

TeTEl & 58 AT et a7 @ S Sl 87 b. 220 m/min/ 220 HexRre
E- g’('gﬁj”r;y// quﬁ c. 200 m/min/ 200 He/fFe
o Potassium / SRR d. 300 m/min/300 /e
d. Barium/sRaw

36. Area of a rectangular ground is
12500m?2. Its length is 125 m.
Its perimeter is

40. Speed of 1km/hr. is equal to

2 fpat Hiex/ g 91 7fa frad RTex it
a. 60/1000 m/s
b. 3600/1000 m/s

U AAIPR ASH BT ATBH 3400 W ot c. 1000/3600 m/s
%ﬁ@mzeum%ammw 4000 i
a. 450m
b. 100m 41. The cost of 18 bananas at the
c. 900m rate of Rs 4 per dozen will be
d. 1250m ?¢ el BT Geu F1d B afe 2 gofa o1
el ¥ TUY 2
a. Rsb
b. Rs6
c. Rs10
d. Rs8
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42. 12 men and 18 women can reap a field  46. 3 hrs and 45 minutes = ................

in 14 days, 8 men and 16 women Seconds
can reap the same field in 3ge MR a5 = ... qPs
2R I3 3R 3¢ AT U WA &t e H 2y a. 13500
faT ovma €, 9 9 FY ¢ e SR 28 a. 18000
afgang St Wd o1 Herg | fHaar gag d b. 10800
a. 6days c. 10500
b. 3days
c. 10days 47. 30% of 140 = x% of 840, then x is
d. 9days a. b
b. 10

43. The average of the height of 5 c. 6
students having height 30, 40, 50, d. 15
60, 70
5 BTAT B 3 TS T gt afe I 48. Which one of the following is
TS H: 30, 40, 50, 60, 70 B equivalent of 6/20
a. 40 fFafafeada o=
b. 50 6/20 % SRTER §
c. 55 a. 6%
d. 45 b. 20%

c. 26%
44. At what rate percent per annum will d. 30%

a sum of money double in 8 years
wfoad i s R WIS AR ¢ wa & 49. The square root of 4096 by means

SR 81 Stz of factors is
a. 12.5% 4096 forareT anfga 32
b. 25% a. 33
c. 00.6 b. 64
d. 10% c. 96
d 24
45. A man buys a toy for Rs.1000 and
sells it for Rs.1500. His gain 50. LCM of (2x3x5) and (3x5x7) is
percent is equal to
TS ITGH! TP feHT 000 FUAF @HGATE (2 x3x5) MR BX5x7) FITA. I T
3R IR Qoo T H 7ar 8, d 3A fba frad aRTER g
wfa=Ta &1 @14 ghm? a 3
a. 331/3% b. 3x5
b. 50% C. 2x3x5x7
c. 25% d. 2x3x5x3x5x7
d. 58%
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Answer Key:

1.(d) v 2. (b) v 3.(C) v 4.(a) v 5.(a) v 6. (a) v 7. (b) v 8. (b) v 9. (d) v 10. (c) v 11. (a) v
12. (¢) v 13. (a) v 14. (d) v 15. (c) v 16. (d) v 17. (a) v 18. (c) v 19. (d) v 20. (d) v 21. (c) v
22.(d) v 23. (2) v 24. (d) v 25. (a) v 26. (d) v 27. (d) v 28. (c) v 29. (b) v 30. (c) v 31. (c) v
32. (b) v 33. (a) v 34. (a) v 35. (d) v 36. (a) v 37. (b) v 38. (b) v 39. () v 40. (c) v 41. (b) v

42.(a) v 43. (b) v 44. (a) v 45. (b) v 46. (2) v 47. (a) v 48. (d) v 49. (b) v 50. (c) v/

Jai Hind
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